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= Year 9/10   = MISCELLANEOUS FUNCTIONS   = Worksheet 4
	1. Simplify 
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	2. Simplify 
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	3. Solve 
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	4. Simplify 
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	5. Simplify 
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	6. Solve 
[image: image6.wmf]7
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	[image: image13.png]7. Sketch the graphs of 
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	8. Determine the coordinates of the x-intercept and the equation of the asymptote for each of the logarithmic functions in Q 7.

	9. Sketch 
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	10. Determine the coordinates of the x-intercept and the equation of the asymptote for each of the logarithmic functions in Q 9.

	11. Sketch 
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y

10

log

=

 and 
[image: image12.wmf]x

y

10

=

 on the same set of axes.

Compare the two graphs.



	Numerical, algebraic and worded answers.




1.  log10(2ax)


2.  3


3.  500


4.  log2x


5.  7


6.  80


8.  (1,0), x = 0 for both


10.  (0,0), x = (1


       (0.1,0), x = 0
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